Goteborgs BF
Grupp A, rond 4, 13-24

IMP over faltet, 12 bord, 16 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 6 1.39 Stefan Sjoberg - Leif Hammarberg 62128 59886
2 204 1.27 Thomas Almén - Claes Biihler 59547 14621
3 203 1.18 Solve Helin - Jan Erixon 49357 35629
4 106 0.86 Hakan Forsell - Leif Albinsson 57861 59976
5 104 0.70 Folke Grauers - Bengt Appelqvist 57805 63335
6 202 0.54 Thore Nilsson - Leif Landhquist 10116 90741
7 103 0.35 Ulrik Orstadius - Ulf Keereweer 54634 53168
8 302 0.31 Kjell Andersson - Maria Danielsson 47126 47125
9 102 -0.31 Borje Brag - Kjell Chronberg 19633 41600
10 303 -0.35 Stig Engelbrektsson - Christer Bernander 18389 48540
11 2 -0.54 Gerd Wrige - Nils-Bertil Gustafsson 88026 28265
12 304 -0.70 Axel Selvén - Gustav Strandlycke 63229 200832
13 306 -0.86 Lennart Keussen - Ewa Merkander 53649 61480
14 3 -1.18 Marcus Bernander - Jonas Englund 48504 47072
15 4 -1.27 Gunnar Ohlson - Majken Wedin 5078 65822
16 206 -1.39 Goran Nilsson - Benny Warnehall 59367 49313
13 a4 Bésta kontrakt 14 & K1043 Bésta kontrakt 15 « ED9 Bésta kontrakt
Nord vD84 54 O =-650 Ost v EK4 3¢ O =-110 Syd v EK76 54 S =650
Alla +D10972 Ingen ¢ 107 NS + K9743
#10984 & ¢ v & NT #10932 & ¢ v & NT «D & ¢ v & NT
4 ED8752 #KKn10963 N 6 8 9 2 4 4 E9 4 Kn752 N8 4576 « K74 4 Kn N5 7 11116
vKn9 vK S 68924 vD10865 v72 S84577 vKn8 v D95 S5 7 11116
¢+ K4 ¢ Kn86 O6 5 4 115 ¢ EKD4 ¢ Kn982 05986 6 ¢ E1052 ¢ D86 076223
#EKn5 #KD6 V 6 5 4 115 #KKn »654 V59866 K974 #Knl08632 V 8 6 2 2 5
a- D86 41086532
vE1076532 vKn93 v 10432
¢ E53 4653 + Kn
»732 #ED87 #E5
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
104 304 64 O-1 vA 100 91.0 -91.0|104 304 24 S= 49 90 37.0 -37.0 2 202 44 S+1 &4 650 47.0 -47.0
2 202 564 O= +A -650 -13.0 13.0 6 206 1y V= T -80 20 -2.0(104 304 44 S+1 49 650 47.0 -47.0
3 203 44 O+1 vA -650 -13.0 13.0|103 303 1y V= T -80 20 -2.0(102 302 44 S= &7 620 41.0 -41.0
4 204 44 O+1 YA -650 -13.0 13.0 2 202 1y V+1 T -110 -5.0 5.0|103 303 44 S= v8 620 41.0 -41.0
6 206 44 O+1 vA -650 -13.0 13.0 4 204 1y V+1 T -110 -50 5.0 3 203 34 S+1 vJ 170 -30.0 30.0
102 302 54 O= +¢A -650 -13.0 13.0|106 306 1lv V+1 «4 -110 -5.0 5.0|106 306 2v N+1 «J 140 -35.0 35.0
103 303 54 O= YA -650 -13.0 13.0 3 203 1v V+2 &4 -140 -13.0 13.0 4 204 1¢ N+1 46 90 -43.0 43.0
106 306 44 O+1 vA -650 -13.0 13.0|102 302 1y V+2 T -140 -13.0 13.0 6 206 2y N-1 & -100 -68.0 68.0
16 + Kn10865 Basta kontrakt 17 & K975 Basta kontrakt 18 D7 Basta kontrakt
Vast v73 34 N =140 Nord v Kn97652 4¢ OD-1100 Ost vKD73 44 S =130
ov +E76 Ingen +K NS + E763
«D85 & ¢ v & NT #K10 & ¢ v & NT #E109 & ¢ v & NT
aKD7 43 N757 97 4 864 4102 N849 95 « EKKn85 41093 N 108 7 6 8
v 105 v E9842 S75797 vKD3 v38 S 84995 vKnl1085 v942 S 108 7 6 8
410982 ¢ DKn43 O6 86 46 ¢EKNn762 ¢D109853 O 5 9 4 4 7 + K109 ¢ Kn85 034573
210742 #EKn3 V 6 86 46 *42 #EKNn73 V591447 &Kn #D652 V34673
4 E942 4 EDKn3 4642
v KDKn6 vE104 vE6
+ K5 *4 ¢+ D42
*K96 #D9865 *K8743
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
104 304 44 N= v2 420 51.0 -51.0|102 302 3v N= v6 140 23.0 -23.0 2 202 3#S= &A 110 12.0 -12.0
2 202 24 S+2 T 170 50 -5.0(106 306 3y N= 5 140 23.0 -23.0 3 203 3#S= «4A 110 12.0 -12.0
3 203 INS+2 T 150 -3.0 30(103 303 3«S= ¢A 110 15.0 -15.0(102 302 3&#S= 4A 110 12.0 -12.0
103 303 INS+2 ¥5 150 -3.0 30 3 203 5¢ V-2 &7 100 15.0 -15.0|103 303 3&#S= 4A 110 12.0 -12.0
4 204 24 S+1 T 140 -3.0 30 2 202 4y N-1 T -50 -16.0 16.0|106 306 2# S+1 &A 110 12.0 -12.0
102 302 24 S+1 v6 140 -3.0 30 4 204 4vy N-1 +6 -50 -16.0 16.0|104 304 2#S= 9 90 50 -5.0
106 306 34 S= ¢v5 140 -3.0 30 6 206 4v N-1 +Q -50 -16.0 16.0 6 206 24 N-1 ¢K -100 -30.0 30.0
6 44 S-1 5 -50 -41.0 41.0|104 5y N-2 ¢8 -100 -28.0 28.0 4 24 V= &A -110 -35.0 35.0
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19 4 EDKn82 Basta kontrakt 20 4643 Basta kontrakt 21 4976 Basta kontrakt
Syd v 87 2NTV =-120 Vast vE6 34 V =-140 Nord v 95 4ANT O =-430
(6)) +8 Alla + K975 NS + 96
#98732 & ¢ v & NT #10732 & ¢ v & NT #1087652 & ¢ v & NT
41094 4 K753 N7 65765 «KD98 #4E1052 N9 5447 4 DKn843 4 E102 N6 3533
vED62 vKKn4 S765765 vKn943 vK1072 S 95447 v 64 v EKn107 S6 3533
495 ¢ KKn42 O6 7 7 6 8 ¢+ E842 ¢ DKn6 047995 ¢+ ED82 ¢ KKn7 O 6 108 1010
#DKn54 #E10 V66768 &K #85 V47995 #43 £KD9 V 6 108 1010
46 & Kn7 4 K5
v 10953 v D85 v KD832
+ ED10763 + 103 410543
*K6 #EDKn964 #EKn
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 206 3v V-2 &A 200 56.0 -56.0 4 204 44 V-1 vA 100 22.0 -22.0 6 206 4v O-2 &A 100 68.0 -68.0
106 306 2¢ S= &5 90 38.0 -38.0|102 302 4v V-1 ¢7 100 22.0 -22.0|106 306 44 V-1 9 50 58.0 -58.0
4 204 24 N-1 T -50 13.0 -13.0({104 304 4v O-1 &J 100 22.0 -22.0(102 302 3NO= 3 -400 -16.0 16.0
2 202 INO= T -90 6.0 -6.0[103 303 2# S= &K 90 22.0 -22.0 3 203 44 V= ¥9 -420 -22.0 22.0
103 303 INV+1l 4 -120 0.0 0.0 6 206 29y O= T -110 -18.0 18.0|103 303 44 V= v¥9 -420 -22.0 22.0
3 203 2NO+1 +6 -150 -6.0 6.0(106 306 2v O= &A -110 -18.0 18.0 2 202 3NO+1 v¥K -430 -22.0 22.0
104 304 4vyDS-2 #A -300 -33.0 33.0 2 202 2y V+1 &2 -140 -26.0 26.0 4 204 3NO+1 vK -430 -22.0 22.0
102 302 3NO= ¢7 -600 -74.0 74.0 3203 3y O= &J -140 -26.0 26.0|104 304 3NO+1 ¥2 -430 -22.0 22.0
22 a7 Basta kontrakt 23 4 D32 Basta kontrakt 24 48 Basta kontrakt
Ost v KKn6 4ANT O =-630 Syd v EK63 3NTV =-600 Vast vK 7NT N =1520
ov + ED954 Alla + Kn1096 Ingen ¢+ EKD92
#K532 & ¢ v & NT »107 & ¢ v & NT #E98653 & ¢ v & NT
& Kn2 « EKD943 N556 33 4 E754 & KKn N3 4443 52 « KD9764 N 13138 9 13
vED4 v 105 S556 33 v852 vD104 S 34443 vD108652 vKn43 S 13138 9 13
¢+ KKn1032 ¢ 76 07 76 9 10 +532 ¢ EKD 0109 9 9 9 ¢ 1085 +4 000540
#E76 #DKn10 vV 7 8 6 1010 #EK5 498643 vV 109 9 9 9 *42 #Kn107 V00540
+ 10865 410986 4 EKn103
v 98732 v Kn97 vE97
+8 + 874 ¢+ Kn763
£984 #DKn2 KD
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
106 306 44 O-3 +8 300 51.0 -51.0 6 206 24 O+2 oT -130 65.0 -65.0 6 206 6NS+1 45 1020 77.0 -77.0
6 206 44 O-2 8 200 35.0 -35.0(103 303 2NO+2 #T -180 55.0 -55.0 3 203 3NS+4 46 520 -7.0 7.0
2 202 44 O-1 v2 100 17.0 -17.0 4 204 3NO= #Q -600 -15.0 15.0 4 204 3NN+4 &K 520 7.0 7.0
3 203 44 O-1 8 100 17.0 -17.0|102 302 3NO= &T -600 -15.0 15.0(102 302 3NS+4 v5 520 -7.0 7.0
4 204 44 O-1 8 100 17.0 -17.0(106 306 3NO= 46 -600 -15.0 15.0(103 303 3NS+4 42 520 7.0 7.0
102 302 44 O-1 +8 100 17.0 -17.0 3 203 B3NO+1 46 -630 -23.0 23.0(104 304 3NS+4 v2 520 -7.0 7.0
103 303 3NV= ¢4 -600 -73.0 73.0(104 304 3NO+1 #Q -630 -23.0 23.0 2 202 5 N+2 vJ 440 -21.0 21.0
3NV+2 v6 -660 -81.0 81.0 2 BNO+2 8 -660 -29.0 29.0 (106 5¢ S+2 45 440 -21.0 21.0
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